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Please make sure that the printed pages in this question paper are 15 in number
and it contains 34 guestions.
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The Code No. on the top of the question paper should be written by the candidate

on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.

TG 3 SR @y o e T Aah s srmaEdgar & ke ot Riar ey 7
el

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No..do not
write anything on question paper and don't make any mark on answers of objective

type questions,
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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General Instructions :

(i) There is 34 question in this question-paper. All questions are compulsory.

(i) Question paper contains two section :
Section-A : Statistics for Economics
Section-B : Indian Economic Development
(i) This paper contains 20 objective type questions of 1 mark each.

(iv) This paper contains 4 short answer type questions of 3 marks each to be
- answered in 60 to 80 words.

(v} This paper contains 6 short answer type questions of 4 marks each to be
answered in 80 to 100 words,

(vi) This paper contains 4 long answer type questions of 6 marks each to be
answered in 100 to 150 words.

(vii) Answer to ail barts of each question should be written together,

2612



1. sho o o R fric T & -

2612

(3) 2612

TS - §
SECTION- A

(A) WRRE $ R W)

(B) witret # Ry W

(€) TR B SR T

(D) IR o

Reliability of sampling data depends on
(A)  Size of the sample

(B) Method of sampling

(C) Training of sampling

(D) All of these

. Tt SR i T S g | 1

(A) YRE W

(B) R
©) (&) ST (B) A
(D) T ¥ B T

Which is the main source of collection of primary data ?

(A) Published sources
(B) Unpublished sources
(C) Both (A) and (B)

(D) None of these

P.T.0.
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3. Wl Wm0 G Y . 1
(A) Ly -1
(B) Ly +1iy

L+ 1Ly
(C) e

Ly - L
D 1 2
(D) o

Formula for finding out mid-value is :
(A) Ly-I
B) Ly +4

Ly +1y
€ =

L -1,
(D) e

4. WO % B9 R v A § 2 1
(A) Oaur +] |
(B) -1a 0
(C) -1am +1

D) T § ¢ 7§

The value of co-cfficient of Correlation always lies between :
(A) 0and +]

(B) -lando
(C) -1and +]

(D) None of these
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(A) T ARG
(B} &% 3R

(C) oma R

(D) g

The other name of pie diagram is :
(A) Circular diagram

(B) Bar diagram

(C) Histogram

(D) Polygon

i & et o T @ s 1w B o e (Cpaer/agEE) !
The use of title where as possible should be in ............... : ('s.ingular/ plural)
Pl ot ot e aa R W S S A Fed 8 (TR TIER) |

The difference between upper and lower limit is called ............... :
(mid value/class interval)

it Rl @ B TE T & N Y R D v it § dtear B 1
(Fer /)

Median is that value of a series, Which divides a series into two ..............
parts. (equal/unequal)
P.T.O.
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10.
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(A) G’lﬁm[Alﬁ‘"ﬂ%(R)ﬁm%wa%m)mﬁwm)waﬁmwku

(B) W(AJWW(RJﬁm%maﬁ(mm(ﬁ)ﬂﬂﬁww
%I _ .

(C) SR (A) T ¥, v @ (R) orEm b
(D) e (A) o &, g 7% (R) @9 N

Q. No. 9 & 10) Read the following statcment - Assertion (A) and Reason (R).
Choose onc of the correct alternatives given below -

(A) Both Assertion (A) and Reason (R) arc true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and'Rcason (R)

arc true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Asscrtion (A) is true, but Reason (R) is false,

(D) Assertion (A) is false, but Reason (R) is true,

S (A) : TR T F AR o A A
H%(R]:qrﬁ@mﬁﬂﬁﬂiﬁlmiﬁﬂﬁﬁ%l
Assertion (A): Laspeyre Index use pase year quantity.

Reason (R) : Paashe index use Current year quantity.

ﬂﬁmm:maﬂm:m,@maﬂz;
ﬂ%(np:mﬁmaﬁg,

Assertion (A): In normal CUrve, mean = median = mode.

Reason (R) : Norma Curve is symmetric around mean.
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11, srafve sheyl a frbow sifeg) # arat € &Y | 3

Write down the difference between primary and sccondary data.

12, mhmmhd(soﬂ)mmt:mmmmmmm 3

e F
{1512_0!30 2 | 25 18 | 40 | 50 | 55 | 6 |
§

The pocket money of 10 students in following. Find mean by direct method :

et st s et m—-.-w-v---—;u-*m-'?"—‘ﬁ“ﬂ'-}- - .
L1520 | 30 ] 22 | 25 | 18| 0 | 50 ] 55 | 65 |

g
OR

P ottt @t weram R wfoen Rl zm o oy WY

b

- ; ..--.-_‘-......_..: ey - ﬂ .
70 10500, 75 13 (%0, 8 1 a2

D T, e

Find the mean of the rnl!nwmg data by assumed mean method :

1
!

10 (5000 75 13 (250! & | ap |

L e T T - e

[% gy — ﬁ.‘-‘- T g T 1 g o R A g - a——
| ki i |
D

13, hqmwmm&mmmmmﬁ 4

e — R

\ci.zl.'?z:"zs?-:uz%zsfg{,;

e ¥
4

-_-ﬁwa

[ |
25 | 38 | 34 | 32|

vy |28 | 20

ks ey o M

Calculate Rank co-efficient corrclation from the following data :

32 aﬁiJGE

J

i g el
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What is meant by Exclusive series 2 [llustrate with an cxample.

HYq[

OR

. %3 G § w0 R 7 gee A fasand ¥ 7

What is Bar Diagram ? What are its features ?

15. Wi & qw @l a1 @ w7 ‘

Explain the main limitations of Statistics.

16. %E EHA A 1 O g 7 E 7 56 T @ o R 5

What is meant by census method of data collection ? Give its merits and

demerits.

OR

i 4 I 7 A0y ¥ 7 g fafe T @ T F

What is meant by classification ? Explain its various objectives.
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(9)

wmiEg |1 | 2|34 |56 7
SR | 3 J10f12(20]12] 10 3

Find out median and mode :

Mid Value

Frequency | 3 (10| 12|20[ 12|10 3

UL
. OR

Pt el | A (Mean), W (Median) o 5ga (Mode) R & :

20-30 | 30-40 | 40-50

6 4 2

v 0-10 | 10-20

|sm=ra | 2 4

Find out mean, median and mode from the following data :

Class Interval 0-10 10-20 | 20-30 | 30-40 | 40-50

Frequency 2 4 6 4 2

% ~§
SECTION-B

S T & A, T A SR o i §
(8) = 9

(B) @ g w

C) = Rig 99

(D) IRz &
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During colonial period, India's demographic profile showed :
{A) High birth rate

(B) High death rate

(C) High infant mortality

(D) All of these

A T & T 7 g 7 | T

(A) 1947 # (B) 1948 ®

(C) 1950 ﬁ, (D) 1951 %

‘When was planning commission established ?

(A) In 1947 (B) In 1948

(C) In 1950 (D) In 1951

ard #§ aha iy 3 R @R 1
(A) SE SeET 7 g

(B) &%w o qaiw gfa

(C) T JET H AR

(D) IF Ol

The features of Green Revolution in India is ;

(A) Increase in crop production

(B) Substantial rise in the acreage

(C) Self sufficiency in food prbduction

(D) All of the above
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T B T e A g 7 | | | ,
(A) 1969 ¥ (B) 1982 % |
(C) 1981 H “ (D) 1991 #

In which year NABARD is established ?
(A) 1969 (B) 1982

(C) 1981 | (D) 1991

(€) FF SHen

(D) WewImr &

Number of unemployed persons = Labour force — ............... :
(A) Labour supply

(B) Work force

(C) Total population

(D) Participation rate

23, i (NITI) ST 3 ®E oo, e T ¥ B o o (29;5/2016) 1
" NITI Aayog was established in the year «....cowe, . (2015/2016)
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24, ., Ret & R WS e A W (g vrem) .
................. is the largest producer of rice in the world. (China/Indla)
25. W X Wl tead AR q e gt (1950/195)) 1 -
First Five Year Plan of Indin was established in year ... . (1950/1951)
R (mﬁozsqﬁm)hwﬁfmawqﬁ—mﬁmmmm(nu d9 Ry m
el 3 R o Re @ @
(A) SO (A) T T (R) A T b o e (R) SRR (A) ® e b
(B) HE (A) TN 7@ (R) A W ¥ o 7% (R) v (A) B o w6
R
(C) ARERE (A) ¥ ¥, WY @ (R) orad b
(D) S (A) 3R ¥, WY & (R) T ¥
Note

: {Q. No. 26 & 27) Read the following statement - Assertion (A) and Reason (R).

Choose one of the correct alternatives given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (4) ang Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R} is true.

2612
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26. T (A) : e fRAM P (FDI) @ B e & @ A ot 8 1
a%m;:ﬁhaarfmﬁ%mmﬁha%l
Assertion (A) : FDI in China is higher than India.

Reason (R) : China is found to be more investment friendly.

27. A (A): F & oRwm R O I R 1
T (R) : g% URAR IO & e omaeae ¥ aftes ot g & R @
Assertion (A) ! Disguised unemployment is found in agriculture.

Reason (R) : More labour are engaged in agriculture due to joint family system.

28. W 3 A 0 P 1 B o e R 3

Explain any three problems faced by human capital formation in India.

Y4l

OR

aE B AdE G § SR aw o e

How human can be converted into human capital ?

29. g & 3 G 3 Tew B T - .
Explain the importance of organic farming in India.
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